## **Maisonette in Fgura**



Reference No: 240061159-288

#### Fgura, South



### €367,000

Total Rooms: 8

Bathrooms: 1

Floor Area (m<sup>2</sup>) : **132** 

Bedrooms: 2

## **Maisonette - For Sale - Fgura**

FGURA – MAISONETTE – Located near all amenities. This property consists of a Sitting/Living area leading to a long Hallway separating the Kitchen/Dining & Balcony, main Bathroom and 2 large Bedrooms. On the second floor, there is a Washroom with access to a spacious Roof, providing a perfect spot to enjoy a relaxing evening with family or friends. This property is being sold furnished ready to move in and freehold, Contact agent for an immediate on-site viewing.

#### **Features**

- Kitchen/Dinette
- Electricity Utility
- Skirting
- Partially Furnished
- Terrace
- Balcony
- Roof Terrace

#### Rooms

- Kitchen : 4.31 x 3.68 m (15.86 m2)
- Dining : 4.43 x 3.68 m (16.3 m2)
- Living : 3.98 x 2.01 m (8 m2)
- Sitting : 3.67 x 3.96 m (14.53 m2)
- Double Bedroom : 4.21 x 3.89 m (16.38 m2)
- Double Bedroom : 4.18 x 3.92 m (16.39 m2)
- Laundry : 1.58 x 1.61 m (2.54 m2)
- Hallway : 8.56 x 2.57 m (22 m2)
- Bathroom : 4.2 x 3.89 m (16.34 m2)
- Open Space : 1.01 x 3.21 m (3.24 m2)

- Water Utility
- A/C
- 🗸 Wi-Fi
- Pattern Tiles
- Air Space
- Deck

# Gallery

































Isaac Ben Daoud RE/MAX Superior - Fgura

M: 79845911 E: isaac@remax.com.mt T: 23910000

**RE/MAX Superior - Fgura** 368,Zabbar Road, Fgura, Malta